
BAHIR DAR UNVERSITY IOT
SCHOOL O F COMPUTIN AND ELECTRICAL ENGINEERING  

     DEPARTMENT O F COMPUTER SCIENCE AND ENGINEERING


  



          ARTIFICIAL NETWORK (AA)  Lab Assignment_1





4/6/2011
PREPARED BY:- BEKELE  HAILE
ID NO. :- ENG/R/069 EC



%Question no. one solution
a=10
b=2.5*10^23
c=2+3.*i %or 2+3i make sure not to use i as a variable. 
d=exp((j*pi.*2)/3)%which is the exponent of e^j2pi/3.
% Question no. two solution
aVec=[3.14 15 9 26]
bVec=[2.71;8;28;182]
cVec=[5:-0.2:-5]
dVec= logspace(0,1,10)
eVec='Hello'
% Question no. three solution
 aMat=ones(9,9)*2
 bMat=diag([1 2 3 4 5 4 3 2 1],0)
 cMat=reshape([1:100]',10,10)
 dMat=NaN(3,4)
 eMat=[13 -1 5;-22 -10 -87]
 fMat=floor(6*rand(5,3))-3 %or we can use fMat=ceil(6*rand(5,3))-3
 % Question no. four solution
x = 1./(1+exp((a-15)/6))
y=sqrt(a)+b.^(pi./21)
z=(log(real((conj(c)+d).*(conj(c)-d)).*sin(a.*pi/3)))./c.*(conj(c))
z = -0.5232 - 1.2556i
  % Question no. five solution
  xVec=exp(-(cVec.^-2)./(2.*(2.5.^2)))./sqrt(2.*pi.*(2.5.^2))
  yVec=sqrt((aVec'.^2)+(bVec.^2));
  zVec=log10(1./dVec);
 % Question no. six solution
 xMat=(aVec*bVec).*(aMat.^2)
 yMat=bVec*aVec
 zMat=det(cMat).*(aMat*bMat)'
  % Question no. seven solution
  cSum=sum(cMat)
  eMean=(mean(eMat))'
  eMat(1,:)=[1 1 1]
  lin=[1:20];
  lin(2:2:20)=-(2:2:20)
r=rand([1,5])
  result=find(r<0.5)
  r(result)=(0)
   

% Question no. eight solution
% which is save in twoLinePlot
   figure;
t=0:pi/100:2*pi;
x=sin(t);
plot(t,x);
hold on 
y=cos(t);
plot(t,y,'r--');
hold off
xlabel('Time (s)');
ylabel('Function value');
title('Sine and Cos functions')
legend('sin','cos');
xlim([0 2*pi]);
ylim([-1.4 1.4]);



